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1. Introduction

In RAN2#45bis meeting, relationship between HARQ and scheduling in [1] was agreed. However, it still remains several unclear points. This document discuss following two points.
- Common RG and different UE's activity.
- RG from non-serving E-DCH RLS and applicability of all processes. 
1.1. Handling of common RG 

In case of common RG is used, each UEs who receives this common RG could have different Ractual,i  because of different source behaviour of different UEs. But the agreement is Rmax,i  is relative to Ractual,i .Therefore, if some UE's Ractual,i  is, by chance, zero kbps, Rmax,i  is also set zero kbps. This might bring a concern as such that too low rate is set because of common RG. But we think this is not a problem. The reason is time critical data i.e. SRB, GBR services would be sent by non-scheduled transmission. Therefore, this accidental behaviour as to set low bit rate by common RG would be no problem. RG could be handled as same both dedicated and common.
1.2. Reliability of dedicated/common RG from non-serving E-DCH RLS
In RAN1#39, it was agreed that RG from non-serving E-DCH RLS is not per HARQ process. RAN2#45bis concludes that “a single DOWN command from non-serving E-DCH RLS is applied to all processes”. However, a single Down command from non-serving E-DCH RLS might not be so reliable. In addition, OR of Down rules among RLSs makes the influence of one error bigger. If DTX to Down error is occurred, it impacts to all processes. One example is UE is relatively near to serving E-DCH RLS but in SHO. Then, the UE might be granted relatively higher rate from serving E-DCH RLS. If RG from non-serving E-DCH RLS is misinterpreted as Down, throughput degradation might be large. One of simple remedy would be a single Down command from non-serving E-DCH RLS is applied to only one process. We just wonder what is the agreed reason that a single Down command from non-serving E-DCH RLS is applied to all processes.
If to be applied to all process is necessary agreement, there are still unclear points.
1.3. How to apply RG to all processes

There would be at least following two methods to apply one RG from non-serving RLS to all processes.

· The first method: Down from each process’s used bit rate respectively
· The second method: Down from first process’s used bit rate and copy to all processes
The first method is shown in Figure 1. When UE receives RG from non-serving E-DCH RLS, the UE decrease Rmax,i by a given step size with respect to Ractual,i of the previous TTI in the same HARQ process. This is performed for all processes respectively, i.e. Rmax,1 is calculated from Ractual,1, Rmax,2 is calculated from Ractual,2 and so on.
The second method is shown in Figure 2. In the first process, UE decrease Rmax,i by a given step size with respect to Ractual,i of the previous TTI in the same hybrid ARQ process. After that, Rmax,i is copied to all processes.
We propose the first method is taken if one down is applied to all processes.  The merit of first method is this can decrease the bit rate while keeping different bit rate of different processes. This is especially merit when one considering TDM like scheduling approach. In case of the second method, max granted rate is aligned among all processes. In addition, if the first HARQ process has higher max granted rate and all other processes have lower max granted rate, then it results rate up except the first process. In order to avoid these situations, additional Down would be required. The first method does not have such situations. Therefore the first method is preferable.
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Figure 1  The first method: Down from each process’s used bit rate respectively
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Figure 2  The second method: Down from first process’s used bit rate and copy to all processes
2. Conclusion
We discussed following points on RG Down in RG mode operation.

· No special behavior is required to Down of common RG.
· We considered reliability of RG from non-serving RLS and raised a question why we agreed RG from non-serving RLS should be applied to all processes.
· If one RG from non-serving RLS is applied to all processes, UE should apply “Down from all each process’s used bit rate” respectively.
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